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$NGSNISIVINAT (b,) MAHHIANMRNSTAH2
2/MANS b, 81 a, MHgHESEIS N

W (by,) Maganinnpnsuig =2 fgsyw
bg=1+e% =1+e" =4 in:inms ¢

b, =bgxq" =4x2" = 2" WMy b, =1+e?
WM a, =In(b, —1) = In(2"*2 -1) 9

H618 b, =22 a, =In(2"4-1) 4
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V-RANGniggoone S G08e
RS x2y2+2yx2+1=0

1 1,
Hme Y’ +2y+x——0ﬁ (y+1)° t 2T 13 x=0
-1
MYy Y+1=cose 8y ;zsm(p
2 1 .,
i (y+1) +X—2=1ﬂﬁLﬁU‘P

2 1 1
f(X,y)=—=+= 42
inmng f(xy) X2+X+y(y+x+)

= 2sin® @+sSine+(cosp—1)(cose—1+sing+ 2)

:ZSin2(p+Sin(p+0082(p—1+Sin(pCOS(p—Sin(p
. 9 : 1 1 1 .
=sIn (p+SIn(pCOS(p=§—§COSZ(p+§SIn2(p

1 2 T
=~ —""cos(~ +2
5 Cos(, +20)

55182 minf(x, y)—Tf 34 m 1+2f
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Senangoi
855595505536 CAIRS VGRS

For 0 0 TR oGNS

-GIRN P REMIT logy, (Yx +x) = % logg X

I-HGHSHES f(x)=In(x+V1+x%) , xeIR

GIANWUIAG 722 f 2 D
1+a+b l1+a 1+Db

Gim:{Ht a>0,b>0 4
-6 m 83 n MGSSHATSHIGM S

(2m)! (2n)!
m!n!(m+n)!

GIUINMH MESSHN

v-sgjaibicid 8u X mogshniglama ¢

sinX _sin2x _sin3x _sindx
a b C d

GIUINME a°(4b® -d*) =b*(3a—c)
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SRNG5S
-GN N IBMI 2
1
logy, (¥x ++/x) = > logg x (1)

x>0

i‘&+\/§>0

ﬁjﬁmimsémm:m%ﬁ{ $16] x>0

mﬁt=%|099Xim: X = 9°t (2)

My (1) IHMS logy, (VX +/x) =t
i8] Yx+/x=12" (3)
RIEMI (2) ﬁgmgﬁ 3)inme 3t+9t =120
isnnh uiifa 12" mms (%)t WL(%)t =1 (4)
1 3

BIM: t=1 WARSUHNIBMI (4) IHMS YRt

191 t=1 Myrsisdmi (@) 4
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BiMs t> 1 1Hms (= ) +( ) <E §=1
4 4
tm:(4)@sgmﬁtm:t>1 y
1.3

i) (4)@sgﬁjt"atm: t>1 9
UIUEREIBMI (4) MISUMIRYWHHER t=1 9
Gins t=1 MY (2) IHME x=9° =81

W x = 81 iGINSAIHNAIBMI (1) IHMNS 3

1
Ioglz(i‘/81+\/81)=§I09981
091,12 =1099 9 &n
HIS:BMINSY x=81

a+b a b

) <t(o—+—7)

I-{ANWTEMAB f(
- l+a+b 1+a 1+b

iHame f(x) =In(x+v1+x%) , xe IR

Uit B Sase Page 190



HRNHSRNINBNIBHIRG

2X

1+
(XHVI+X) 2142
x+\/1+x2 x+\/1+x2

V1+X% +X 1
(x+V1+x XV1+X ) V1+x

>0,VxelR

{HmMS f1(x)=

TN F'(x) =

1+ x°
Ho18:HSHYS f(x) MuSAuSIRSMIGIU IR

gnaig)atim:pt a>0,b>0 IHNS ¢

a a - b b
< SH <
l1+a+b 1+a l1+a+b 1+Db
RO a b a b

1+a+b 1+a+b 1+a 1+b

a+b a b
< +
- l+a+b 1l+a 1+b

ihwanninusaus f(x) husavdiRshioub IR

WNHISSMUUHANHSATSIRSIRMS 3
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a+b - a N b 19 a+b ) < f( a N b
l1+a+b 1+a 1+Db 1+a+b 1+a 1+b

)

a+b a b

) <1(

+
l+a+Db l1+a 1+b

)

N5 f(

Gim:pv a>0,b>0

(2m)! (2n)!
m!nl(m+n)!

lH-Mu f(m,n)=

o I o I I
-51MNs n=0 16N S f(m,0) = EZT))Z' =CI ESSHA{HT
m!

GSSRATSHIMS m

(2m+2)1(2n)!
M+ !InIm+n+1)!

AWHMS f(M+1,n)=

(2m)!1(2n)!(2m +1)(2m + 2)
S (mH(M+1).n(m+n)(m+n+1)
_ (2m)I(2n)!  4m+2
S mIn!m+n)! m+n+1

_ 4dm+2 £(m.n)

T m+n+1
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EAWESH F(m,n+1)=—DT2 f(m,n)
m+n+1

IS f(m+1,n)+f(m,n+1)=4f(m,n)

AN f(m,n+1)=4f(m,n)-f(m+1,n) (*),
iwafipnw/muAtAnSmMyn 1f(m,n) MESSHEH
GiN: n=0 WM S f(m,0)=CJ,, MESSHE

GIN:{HT me INU{0} ( TN )9

UM f(m,n) MESSHATHT ne INU{0}

it S Wt f(m+1,n) MEGSHATE 9

MY (%) IWAMMS f(m,n+1) MEgsaniangn: f(m,n)
S8 f(m+1,n) MESSHR 9

(2m)! (2n)!
m!n!(m+n)!

HGIS:

v

MEgeHt 9
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V-BinMt a’(4b? —d?)=b*(3a-c)

sin X 3 sin 2x 3 sin 3x 3 sin4x 3

a b C d '
[ sinx=at
- sin 2x = bt
~ sin3x =ct
| sindx=dt

inin e Sin4dx = 2sin 2xcos 2x

sin® 4x = 4sin® 2xcos? 2X
sin® 4x = 4sin? 2X(1- sin’ 2X)
d’t?> =4b%t’(1-Db°t?)

2

, 1 d
t=—|1-—| (1
IHNM bz[ 4sz (1)

§N1g) 8 sin3x = 3sinx - 4sin®x
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sin3x =sinx(3 - 4sin? X)

ct=at(3- 4a2t2)
mam = (3-2) (2)
~ 4a°° a
5u (1) 84 (2) mms s

1 2 1
149 =_2(3_£)
b 4b 4a a

4b° —d* _3a-c
4b* 48>

sanERInhidn a%* wms a@b®-d*)=b*(3a-c)

i618: a’(db?-d?)=b*(3a-c)

DL FERRR
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